= 10.000 tf

A A 2 1
A C D B=———x 10.000 x ( 2.000 0.250
2.
25( 1000 75 000
| 1750 | 100g)_ .|, 1250 1.000 ) = 16.250 tf
2000 2000 2000
16.250 x  6.000 6.000 7
g I = x ( —)
4 32 8
= 25.898 tf m
A 4
VAN AN
I+i = 25.898 x (1 0.3 )
= 33.667 tf m
3000 3000
6000
6.000 7
B I = 16.250 x (———— — )
32 8
= 17.266 tf
\ 4
AN

—
+

-
1

17.266 x (1 0.3 )
22.446 tf

6000




0.220 x 2.000 = 0.440 tf/m
A 4 A 4 A 4 A 4
= 0.200 tf/m
d = 0.640 tf/m
6000

2 0.640 x 6.000 2

= = 2.880 tf m
8 8

_ 0.640 x 6.000 - 1.920 tf
2 2
I+i d = 33.667 2.880 = 36.547 tf m

o
11

I+i 22.446 1.920 24.366 tf



ob

350 x 350x 12x 19 (SS400)

= 2280 cm’
= 39800 cm'
w= (35.0-2x 1.9 )x 1.2 = 37.44 cn’
' = 6.000 m
= 35.0 cm
- 8000 17143 4.5 1'/B 30
35.0
o ba = {1400-24x (1"/B-4.5)}x 1.5 = 1645 kgf/c
547 x 105
max__ 30.947 x 107 _ 1605 kgf/cm’ oha = 1645 kgf/cm’
2280
mn O-K n

24.366 x 103

max_ - - = 651 kgf/cm’ Ta= 1200 kgf/cm’
w 37.44
mn O-K n
3 17.2 103 .03
- 6 x 107 x 6000 ° _ 593 o 25
48 x 2.1 x 106 x 39800
5 093 1 1
600.0 645 400

" O.K 1]

cm



